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Shopping Multiplication

Solve the following word problems.

John bought 2.25 pounds of apples at $1.75 per
pound. How much did he pay?

Mary bought 3.50 yards of fabric at $2.20 per yard.
How much did she pay?

Sam bought 4.75 gallons of juice at $1.50 per
gallon. How much did he pay?

Emma bought 2.50 pounds of oranges at $2.00 per
pound. How much did she pay?

Jack bought 3.25 pounds of bananas at $1.25 per
pound. How much did he pay?

Oliver bought 4.50 yards of cloth at $2.50 per yard.
How much did he pay?

Sophia bought 3.75 gallons of milk at $1.75 per
gallon. How much did she pay?

Mia bought 2.25 pounds of grapes at $2.25 per
pound. How much did she pay?

Lucas bought 4.75 yards of rope at $1.75 per yard.
How much did he pay?

10 Ella bought 3.50 gallons of oil at $2.50 per gallon.
‘bHow much did she pay?
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